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QUESTION 1

What is the default step length of ACL on AR G3 series routers? ()
A. 10

B.5

C. 20

D. 15

Correct Answer: B

QUESTION 2

Which of the following IEEE802.11 standards support operation in the 5GHz frequency band? ()
A. 802.11ac

B. 802.11n

C.802.11g

D. 802.11a

Correct Answer: AD

QUESTION 3

Regarding the IPv6 address 2031:0000:720C:0000:0000:09E0:839A:130B, which of the following abbreviations are
correct? ()

A. 2031:0:720C:-9E0:839A:130B
B. 2031:0:720C:0:0:9E0:839A:130B
C. 2031:720C:9E0:839A:130B

Correct Answer: B

QUESTION 4

As shown in the figure below. Which port of the following switches will be blocked? () (Single-choice question) A.
SWA\W's G0/0/3
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Bridge 1D Bridge ID
4096:0001-0203-0444 12Ve8-0001-0203-0288
SWA SwWa

GO/O/3

GO0

Go/oia \ GO/
s
by,

. Sswe

o

EE S e
Bridge D
322680001 0203-04CC
B. SWC\\'s G0/0/1
C. G0/0/3 of SWB

Correct Answer: C

QUESTION 5

For multiple paths to the same destination network, the router needs to select by comparing the magnitude of the
Prererence value. If the Preference is the same, the router selects according to the magnitude of the Cost value. ()

A. True
B. False

Correct Answer: A
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